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(.2 1) X2 wan Xinn P"?D'l X170 XN
Near the end of the last post | mentioned a vort on 1YW,
Hello to all my readers, whatever your preferred dialect is (121121 223 7117 *922 "noun):

(:x0°mon) 7> 0w
(:1¢ Mn) P> XY
(.mx P7mo) Phu ohw
The word 0w means Hello and it means Goodbye.
The word D15 means Hello:
Welcoming the 0’1771 and the 0°217p:
(.Y PITI0) AP I DIPW D1PY
and it means Goodbye.
Excluding the 0’21171 and the 0°217p:
(:0m 1) D221P *P1DKD NN D2 P 1EKRD D YU
(.o O°’1oD) PNPPEX 1PN?7U XD *NIX
He didn’t even come in yet, and you are already having him leave (saying goodbye)?
Similarly:
(.7 M1272) 131170 M2 MwDI XM 1K 1970 1

Well 1971 1 says the MWK 11273 is MWwDI XM2. As our custom is to say M1 XM as the TNWwWXT 1273,
| say on this X773 in M272:

PIPNPPOX 7PN XD PNIX
XDIPT7327 XN9N

A comment on the 1211 proposed in the last post between the hair length of 7% 111 w7 W& 7125 > 70
7115w 1p°8 and 11705 11 YW WK 7109 0.

The comment:
“Well now you are just splitting hairs aren’t you?”

Nazir 39b Artscroll Note 11 “The precise difference between &N and 70D0 is not clear. Aruch etc.. just
part of a hair... Rosh seems etc..
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Comment: “We’re not just splitting hairs, we are even splitting the splittings of hairs.

7’11’01
The Sandwhich Sandwhich (are you in the mood for a grilled meat sandwich?)
Well as this is a Dinner Menu Item If it is the evening one should say Unw nu>p first:
(:7M272) DUPN UXAX MPDN I 12 12 DA °27 11719700 92 1w XY Y InDuIim
Perhaps it is like two M2 sandwhiched between two uUnw Nu»p’s:

OK. Let’s make the sandwich.

Well there is the bread:
NP2 1AM 1A 28R D0 1M v'™ MNIAw3A 717 70 KW RS 197 won v
(1mPwn DX XN PRY 1"7 0N :p 0°1oD)

And don’t forget the meat:
(:7 1) POON X Inam D°nPWwn Nar NN WX XIP MK X271 X n"aImn
So there might be 121 below and 127 above.

The 17710 Jackpot

(.7 NXnPr) 11U 30 U
(10 DHPW) WX WX WX
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(.19 NAW) MK MK MK
Is there any luck when it comes to learning 71N?
(1 712°3n) Xnw 13 X7 XNUD 01132 DA 72 *9n 23
Having mentioned gambling:
Here are two Mn1pn niXN for X°1p XNINOX or not:
(AP M NX "7 'oIN .29 PAL)
(:>2om)

O'RIAINNI O'NIN
nPIinmacor ™
The MBOIN says in X17UnN3 U 1nN 177 "|'?N TINY 11 7’13 that in 77730 we said aXilbista)
X271 is 71°317 "2 701 1. yet here we see U242 7194 121N is going on a comment of 12°01 "1
arIn's “oppnn”.
Could we possibly explain that he laughed at himself? Perhaps this might explain the XX M
of the X1 in 2 MU " PAT7I0.

0121Wn 72 ANNy2 PUuNn AX 012IYNY QW2 177 7NN N2> w 12 PXINW 277 7772 7 0K
(.12 IUN) ANRWYA P20 IR
"MOD1 0N PXIWD P 0701 " 1IX 0I101wn 1T " wD
TPWRI XD PRI W7 AR PPN WRN?D 103 T2 X7 P KT DXOW? 12 7290 XDD MK
(:02 23un) PO X077 TIXA
Now >’ includes 10D in the reason to be fNN2 1’277, and yet that is in the month of jO°1.
Then XD "7 says 121 7297.. so | want to ask does XDD ’1's statement also include the month of
10°3? Perhaps the fact that we are I w21 1271 in the month of 01 is obvious As the 10D says
7372 NN ete... so it doesn’t need to be mentioned.

Do the 011N have enough space?
| felt cramped in the main w1771 1’1 so | wanted to learn in the side room

where | have more space.

(:2 1) XTRON% XM NRaw X2 0 PR xR L1
(.12p NAW) .11 > PRDN? PINT D1pn X INXK O1PR? °27 720 NNX 0UD X710 N1 InK 727 KT .2

Well how much space do the D> need?

PRI 1171w 227 AKX 7RKA TUIN UK AW 1370 KU 1 OYK TN PI 0eaw0 par 'R .3
(.33 P2IPY) FIRXA YW WY PAWY 1370 DN 12 UK 1 DY 1N
(1P NAW) N°P1R122 220 P13 XA P9 M X7 XINX N2 UK 117 .4

Some D> that needed less space for a different reason:

(.3 NAW) Pr’ 212 NR1 LI TIAX TRPN2 AwUn iR AT RN L1
(.71 7IP3) 121 220w >TTI0DOK T PNI2aWA AT XTRPD XA RT .2
a3
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Some words and their examples, meaning or meanings ? through n:
P
PRINIP
A nation, or native of the geographical location.

(:X5 Pn)(.n%p Naw)

il
It includes:
(72 rn)
A girl:
(:12p Naw)
Hela|
eyebrow:

(.X? PeTR)
A unit of measurement of distance:

(:04 Xnp X22)

RMw
Trap:
(:72p NAW)
Wind:
(.70 Pa°n)
Speech or talk:

(211 71010)
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The expression “Shut yout trap”
If someone tells you to shut your trap or keep your trap shut,
they are telling you rudely that you should be quiet and not say
anything. -Collins Dictionary

B ealiigmiig
The woody branches of the grape vine.
(:7%rn)
With a > this word means “The woody branches of the vine”. Without a > this word is mistake.
(.2°p o’rion)
Eaiitallel

If you are intending to write the woody branches of the grape vine and you don’t add a > what you made
is a mistake.

OXTINN
(.-Tm 7)) NTIMONN 0N
(:ND NAY) NNIN DY WD INTINNT XDA NOONY TV
DMA '22pN NNIX DIXT AN NANETININ N 191X DRA0ID TAVN AN NI ProDp
N1 'NIINN NIWN DNO0D N290 [ANIT 1 NN XN DD X110 K21 NRTNNATM D1 TmaNN
TN NNOW 'TAY DIWN NN TN X201 N1 'ADD XD XNV 'NN TINNN [AN1E T XADKI
(:1"0 NINQY) DDYN' NI DIYN NN
Don’t ask 137 72 X117 1 what N W stands for:
(:12 12°n)
If you know what | mean...
(Wink, Wink)

na

Was N1 a T'ndn of [anI' ' or not?
(.NY NIN2Y(:2D |'2N'Y) TNy 212 WY AMTn X1opp .1
"N 12N W NIDPIp NUT 'O OW 'antY
(.2 NYN) ANI' 1 INAX N2 NIX .2
720 AN 2172 NIRX [N XTON M DD K XKNYNY XN MMNpEN2Y an' .3
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(L1 DN)
(.X'P NIAIMD) ANI' 7 1112772 W20 ' NUNEL.DENQYY INR Y Indw 4
He was definitely a 7°'n>n of X111 "1:

(:an 1) .12 XA’ XD 2107 127 X9 XIPA XA M TAK 770K L1
(:7 P2PR) 121 XN 2772 XTI A0 0K .2

| want to say number two is a better 71°X7 than number one since 1727 might hold like >OX "7 in
2Ny T 0hpw:

AW TINK " Y IAK PR XNUAY K NXT XND 732 °27 0°I7 0K 12 XU 1 P nK
TNAX 720X 72 XIX T PD 0K TPRwR XNNURY AKX NXT 279 ' 0% °0K 1P XU D 0K
(:1 25pW) PRwn

X227 29
Well X172 27 was a 71?0 of 27

(.rp P"12)
And there was an earlier X172 27 who was the *27 of 27
(:n paru)
Most likely the following is the Tnn:
So 17 said to get him something to sit on:
(:72p Naw) PPU 2207 X170 XMW D 10K 10K 27727 UHRPK KID 27
So when he didn’t have anything to sit on 27 chose not to sit either:

(P NIw) >OX 27 X172 2771 IR0 POU 22 XD 11°M27 T2 DIWR1 W X702 PN NNAK 277

The Same Name Says It is In The Name Of The Same Name
(:° NAW)(:22 P3) X7 TTUOK " TTUOK " I0K

I’'m adding this one to the list:
D1’ 12 101 1XN2 Ao 1"
(1" 1")(.0% )

Here is my 7°X7 that the name >0V is the same as 701’:



n”a

"I qT

DREF B0 INSIESTS

We find that X>11p% 12°0°K 12 unw "
(.119 XWP¥n X12)

Was also called X°117% 12 °07 12 nunw :

(.X1 0°r1oD)
So this proves that *0°X is the same as >07’.
Now we know that D¥177 ’X 701 was also called 777 12 °0°X:

(:¥p O’rioB)
So that proves that °0°X is the same name as 7O?’.

S0 07 is *0°X and >0°X is 7OV, So | want to say that >07 is the same name as 7O7.

unun
(M272,0°1m0D) WP T2 172 W 12 PR XYW N

(D°rmon ,0°7T1) PN 0L °192 TIIXD TIOX

A P11 Vort

Perhaps you are writing down your 711, and you feel overwhelmed because you feel there is too much
to write.

(:X2 P217°U) ¥R PX 112770 0190 MY
If so, here is a vort to give you P111:
Remember what it says in N2w NJonN:

°12 501 M DR D°01P1R DPRIXT T 0 92 PP OXK 27 1K X211 XA ' 0K XD 12 X217 0K
0’291 271 pra1u® X1 0T DPAw XOWIwn 1 IAK NXTR RN M 2w 991 1029 0°p?hon PR P92 0K
(.X° W) P PR

(1777) ©°%nu om oYy X



